
 

Class – 7 

Chapter – 1 

Rational and Irrational Number 

Lecture sheet – 2 

Solution 

1. a) 169 

                                13   169 

                                          13 

 

169 = 13 × 13 

        = (13 × 13) 

∴ The square root of 169 = √169 = 13 

Required square root is 13 

     Ans: 13.  

 

 

 

           b) 529 

                               23    529 

                                         23 

 

529 = 23 × 23 

         = (23 × 23) 

∴ The square root of 529 = √529 = 23 

Required square root is 23 

     Ans: 23. 

 

 

 



c) 1521 

                             3   1521 

                               3     507 

                               13    169 

                                          13 

 

1521 = 3 × 3 × 13 × 13 

          = (3 × 3) × (13 × 13) 

∴ The square root of 1521 = √1521 = 3 × 13 = 39 

Required square root is 39 

     Ans: 39. 

 

d) 11025 

                               5   11025 

                                 5    2205 

                                  3     441 

                                   3     147 

                                    7      49 

                                               7 

 

11025 = 5 × 5 × 3 × 3 × 7 × 7 

            = (5 × 5) × (3 × 3) × (7 × 7) 

∴ The square root of 11025 = √11025 = 5 × 3 × 7 = 105 

Required square root is 105 

     Ans: 105. 

 

e) 1849 

                                43   1849 

                                            43 

             1849 = 43 × 43 = (43 × 43) 

∴ The square root of 1849 = √1849 = 43  

Required square root is 43 

     Ans: 43. 

 



f) 1024 

                              2   1024 

                                2    512 

                                  2    256 

                                    2    128 

                                      2    64 

                                        2    32 

                                          2   16 

                                            2    8 

                                               2   4 

                                                      2 

1024 = 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2× 2 × 2 

          = (2 × 2) × (2 × 2) × (2 × 2) × (2 × 2)× (2 × 2) 

∴ The square root of 1024 = √1024 = 2 × 2 × 2 × 2 × 2 = 32 

Required square root is 32 

     Ans: 32. 

 

 

2. a) 147 

                              3    147 

                                7     49 

                                          7 

147 = 3 × 7 × 7 = 3 × (7 × 7) 

There is no pair of 3. If 3 has a pair then the number will become perfect square 

number. 

So if we multiply the number with 3 then the number will become perfect square 

number. 

Required number is 3. 

       Ans: 3.  



b) 384 

                          2   384 

                            2    192 

                              2    96 

                                2   48 

                                  2   24 

                                    2   12 

                                      2   6 

                                            3 

384 = 2 × 2 × 2 × 2 × 2 × 2 × 2 × 3 

        = (2 × 2) × (2 × 2) × (2 × 2) × 2 × 3 

There is no pair of 2 and 3. If 2 and 3 has a pair then the number will become 

perfect square number. 

So if we multiply the number with (2×3) or 6 then the number will become 

perfect square number. 

Required number is 6. 

       Ans: 6.  

 

c) 1470 

                               2    1470 

                                3     735 

                                  5    245 

                                     7     49 

                                           7 

1470 = 2 × 3 × 5 × 7 × 7 = 2 × 3 × 5 × (7 × 7) 



There is no pair of 2, 3 and 5. If 2, 3 and 5 has a pair then the number will become 

perfect square number. 

So if we multiply the number with (2×3×5) or 30 then the number will become 

perfect square number. 

Required number is 30. 

       Ans: 30.  

 

 

 

3.a) 972 

                   2   972 

                     2   486 

                       3   243 

                         3   81 

                           3   27 

                            3    9    

                                  3 

972 = 2 × 2 × 3 × 3 × 3 × 3 × 3 = (2 × 2) × (3 × 3) × (3 × 3) × 3 

There is no pair of 3. So if we divide the number with 3 then the number will 

become perfect square number. 

Required number is 3. 

    Ans: 3. 

 

 

 

 



b) 21952 

                                2    21952 

                                  2    10976 

                                     2    5488 

                                       2    2744 

                                         2     1372 

                                          2      686 

                                            7     343 

                                              7      49 

                                                      7 

 

 21952 = 2 × 2 × 2 × 2 × 2 × 2 × 7 × 7 × 7 

             = (2 × 2) × (2 × 2) × (2 × 2) × (7 × 7) × 7 

There is no pair of 7. So if we divide the number with 7 then the number will 

become perfect square number. 

Required number is 7. 

    Ans: 7. 

 

4. 3136 

       Here the number of dots are 2. 

       ∴ Square root is 2 digit based.  

 

1234321 

          Here the number of dots are 4. 

       ∴ Square root is 4 digit based.  



52900 

          Here the number of dots are 3. 

       ∴ Square root is 3 digit based.  

 

  

 

 

 


